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(F—T>DE)

Bz K& ouT IN GROSS | HDCP NET
1[{£BE T 47 43 90 18.0 72.0
2|RE B 47 43 90 16.8 73.2
3|5HA shz 41 45 86 12.0 74.0
AlfEE IERM 48 44 92 18.0 74.0
5| %) EEIZ 47 51 98 22.8 75.2
6|1 FHA 47 44 91 15.6 75.4
1F#% E2 48 48 96 20.4 75.6
8|1EM #if 50 49 99 22.8 76.2
9|FM wi 48 46 94 16.8 71.2
10[XE KA 55 51 106 28.8 71.2
118k F=E 47 52 99 21.6 71.4
12(8%F Fig 46 46 92 14.4 77.6
13| E&)II Bih 51 46 97 19.2 77.8
14 EH FZ 49 50 99 20.4 78.6
15| %8 EA 49 45 94 14.4 79.6
16|MEBELR XEF 55 45 100 20.4 79.6
17[#ZF R 39 47 86 6.0 80.0
18|FBR X2 54 48 102 21.6 80.4
19|t B 60 46 106 24.0 82.0
20| E 1EBA 48 51 99 16.8 82.2
21|84 60 58 118 33.6 84.4
2| FHE EBX 55 60 115 27.6 87.4
238K FEsh 66 50 116 21.6 94.4
24| tH G 69 63 132 36.0 96.0

(LT4—R1\—rF—DE)

[zt K& ouT IN GROSS | HDCP NET
1| K5 EFF 42 44 86 10.8 75.2
2| RE BiL 48 48 96 20.4 75.6
3| K&HZE MBF 51 49 100 21.6 78.4
4NE EF 47 47 94 14.4 79.6
5|7 BF 53 50 103 22.8 80.2

(=T DHE)

Bz K& ouT IN GROSS | HDCP NET
1155 B 42 46 88 18.0 70.0
2|1 X 39 40 79 8.4 70.6
3 EA ET 45 43 88 15.6 72.4
AEE F— 50 50 100 26.4 73.6
5| FaFt 1B 47 45 92 18.0 74.0
6|=48 R 41 46 87 12.0 75.0
ey E-FS 49 44 93 18.0 75.0
8|&ME X 44 48 92 16.8 75.2
A HE= 42 47 89 13.2 75.8
10[fER K & 42 47 89 13.2 75.8
11[#1H & 49 46 95 19.2 75.8
12|%#%E T= 50 45 95 19.2 75.8
13|18 EX 46 48 94 18.0 76.0
14[EX KE 51 53 104 27.6 76.4
15|[RE BE 45 45 90 13.2 76.8
16|AF =X 46 49 95 16.8 78.2
17(85K F0if 49 38 87 8.4 78.6
18|k &5 49 49 98 19.2 78.8
19|FE & 48 54 102 22.8 79.2

20|1EH 1B 46 49 95 15.6 79.4
21| K8 £ 51 56 107 27.6 79.4
2|ER 50 46 96 15.6 80.4
231E)1l FRE 59 51 110 27.6 82.4
24|lLA % 52 58 110 27.6 82.4
25|58 BX 54 55 109 26.4 82.6
26[H B 7% 57 58 115 28.8 86.2

(R—18—S =7 DER)

Bz K& ouT IN GROSS | HDCP NET
13REE 2 41 40 81 9.6 71.4
2| KA BNt 49 45 94 20.4 73.6
3| Xk BE 44 42 86 10.8 75.2
4| KA K— 46 47 93 16.8 76.2
5|pEf R 51 49 100 20.4 79.6
6| KT RX 53 48 101 20.4 80.6




